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u6D8 MCR3UI Solving Trigonometric Equations

Warm Up: Give all possible values of 8 from 0° < 8 < 360°
a) sinf = 0.8081 .B‘A b) cos§ = -
B=30 0:180-30" O :=180+30

0= :z'm“(o. 8030 .
8 =540 =180-5M 0 =150" or ©:=210°
9 =120
Solving trig equations is similar to solving regular algebraic equations:

2sin@ — V3 = 0 is similar to solving 2x — /3 = 0, where x = siné
B=lOv” Ax=V3

1 Sind _ V3 s a

sn_ 5 _S;ZL/ xe 3
2

R 0= 180%60"

—

Example 1: Solve for 8 for 0° < 8 < 360°
a) 4cosf = cosf + 2 (combine like terms and isolate cos6)

HeosO-cos®=2

v o °
% A 1O=48°.e 312
v
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20 _ ¢ — 2
b) 2sin“0 - 6 0 c) 3sin“8 + BStnGane'.b4m

dsit0=p |2(sir6-3)=0 35in0(sn0+1) =0 20
. s - -32Ja-
20=3 |(5ind-33)(s1n0 +3)=0 S\‘ne =0 ok SinO="1/s5in0_ 3-1"7 o
sin® =t{3| Snb=* -.i 4 5i0d -~223
[ U U
Recoll: R=i5|36R,‘l$sﬁ\} 9=0,130,2;0£. 50- 6 or |
% dhere is no sdution.
d)2cos?0-1 = 0 e) 2sin%6 - 7sin@ + 3 = 0
dcos”O- | ) (similar to solving 2x%> —7x +3 =0) ___
cos’O- L ) i 521 S ’@___b_:b,

_r_L A (5\00-33(25109 )9 =0 s, .’:J__;q.
e %'Q_ Snd=3 & SWO=1 4
Rewmémber the T e X 0-30" S0 _ ’l"b’

6:450 ?# or |5'o. sind. 3 oR i
0= 45" 135,335, 0«3\5"—‘ w | X

U6D8 Practice: Page 408 #2, 3acef, 5abc. Solve in degrees.
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